B.TECH THIRD SEMESTER EXAMINATION ; 2008.9
COMPUTER BASED NUMERICAL & STATISTICAL TECHNIQUES
PAPER CODE : TCS-302
Time : 3 Hours r :
Attempt any five questions.

M.Marks : 10

WL

i. Compute the real root of X .5 % + 3 = 0 in the interval [1,2] by the Reg:
falsi method perform three iteration oaly.

b. Ty Newton Raphson method find the positive root of  f(u)=x - 2 sin x.
choose suitable initial guess and perform three iterations.

¢. Find the root of the equation  f(u)=x 3 .3x -5= () which lies between 2 an!
3 by the Muller's method . Perform two iterations only .

i Apply the quotient — difference method to obtain the approximate roots of b
: 2
i, 2{5 - 7x° + 1lx - 2=0
b. Deline rate of convergence, Obtain rate of convergence of Newton Raphson
method,

o Applying Lagrange's formula , find the interpolating polynomial f(x) for the
fullowing st of abservilions.,

X: 10 1 4 |5 ]

TY: |4 3 24 139

Alse i 1{2)

(3.

(4) From the following table. Find the number of students who obtained less thun
435 marks by method of interpolation,

Tiaks: 1030|3140 [ 41-50 | 51-60 ] 61-70 |71-80 Bl
'No. of[0 31 42 |5l |35 131 5
Students | : ' . i

{1y} The ordinates of the normal curve are given by the following table
£ ST L |4 6 8 |
'y. | 39893610 | .3683 |.3332 [.2897 |

Chabenlate: () yL25) (i) ¥{.02)
Lose MNewlon's method of interpolation.
) Use sticling”s Fornula to find y(28) given

S T R - N R T

LY . 49225 (48316 [ 47236 | 45926 (44306

Q. 4.
{u) By means of Mewton's divided difference formaula, find the values of f(2).
i) and [(15) from the following table,

' o3 17 10 1 13

!K: l'4
[Fup 48 100 1294 {900 _ [1210  [2008
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and curve uing.

b . Differentiate between imerpolition
mplex roots in detail.

¢. Describe die methods of finding €0

L35,

{2) Fit a nutural cubic spline o the following data:

Hepce compute

] y(2.5) and
i) ).L_I':l

i i the first and second derivative at 1.1 for the data

.-\. ;' |_[]::._- Il_: N E._l-.l._.._ .._[_L_If;_ T

i id0 |

Fvatuse the intepril

[ 2
! x f 1ax dx

wiking Four equal intervals and hance the value of loge 2.

Siapson’s ru

(.7, attempt any LwWo
5 Fora bi vartae distribution n = 18,
i};2=6ur X 3"1=96! > x=12, Y y=18, Xy =4
Find the equanons ol lines of regressions.

. Fitthe curve ¥= ax b 5 the following data Jusing method of least

SEuUAres

1} Cuality conirel methods

iple Rearession Aualysis
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